B 7= [REERY] I

MPANE—IJLRA—15S HNE—JVLRA—20S
. m g%/?)b?'f RIS — 55141 g%w /T’)b?{ h/;b/\—
TEZ—b N—Z:E=Z—Jb

— —

T

| i ,,
P644l L i R12.5

15

fllﬁ

/20

FIOAJPS !
fJ‘/\:E JVRA—15S AF v HNE—JILRA—-20S A v g
5514 El?“ —Ju/t=1.5mn i il 5718 Hg“-) t=1.5mm - il lP
SWIN=RABY g7 Rk TA k- N=Ta SIIs— xaum RTA b N=Ta ! 5
15>\ 15)\\ ;
o0 H
L b
y ~ |
12 .
17,
FILIE—ILKW—40 FZILIE—ILKW—50
. 61030 2m/7')b?4 rILIS— 61031 2m/ 7= A f\“/)lz/\"—-)
N—Z: EZ—-Jb N—=—Z:EZ—JL
6 6
Fe1 e
8 PIP
111 i = i
B B BRI
% 2 =1 i
L} !

APQHH 79142 TV EKW—40R% vy T

=1.5mm _
/JW\ )"5“) 9P LA TRIA b wPARY— 2 5TH

*_Qﬁ 79143 w» :E JVKW—50B%+vv7

/ t=1.5mn
/)b/\ )C')‘IUJ7 AIERTAb - TAR)— - SFF

. 55132| 7/VIE##EAA—30 [55133] 7/LIBMEAA—40 55134 7/LIHHEAA—50

2m,/ I A RIbin— 2m./ 74 FILN 2m/ TZIL= A R IbIN—

4

ﬂz ﬁz

A\ o \
—
Lo}
—
* o
N
o o —
— m
o O —
— <
= — o o
— — L0

)
R
15
|
T

20

\\
R15

TIVIBRIE, 1EPEDT— LT (RHBE) HFEETT, \

R20



